R Hh RN 7 A B No.2

2013410 H28 H (H)

D7) ¥ M, Oh-o! Meiji ¥ A7 4 (URL: http://oh-o.meiji.ac.jp) ® 27 7 A + 7 = 7HD
N—VHETHE MHiRMEE SHEEZEEEM (A) 4 KRB#E» 70— FTEX
9. HEM% X takahiko@meiji.ac.jp ¥ T.

ERE 2 87 X —FFR
v(t) = (z(t),y(t)) := ((1 + cost) cost, (1 + cost)sint) 0<t<m

TRINHHRIT OV TROMICE Z L.

dt

£\ £\
1+cost:2<cos2> , l—cost:2<sin2> .

t
(2) MR T XA =% 5= s(t) ::/ ||Z—Z(u)|\du DEMAEN LI 2 KD K.
(3) A(t) TEENBMBOUIE RS 2 — 5 FT~(s) =  (K(s)) Kb k|

2 2
1) H‘f;(wu:\/ (%0) + (L) ekox riL, EBssEKoRREHESTE



